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Name

1. A 11" degree polynomial should have if 6.

all terms are present
a. 10terms l5+ Aﬁf!{ —? 2
w '+ 4 YHgrs

true?

all terms are present

a. LE terms l J &‘

N
b. 11 VARIABLE term ﬁxc ﬁ
c. 12 VARIABLE terms

d. 13 VARIABLE terms
e. 14 VARIABLE ter

“ b. 11 terms a.
X G emsS desreR = 3termy >
d. 13 terms n 2 oL c.

e. 14 terms % +X 4+ I d.

X D&u? ree +\ e.

2. A 11" degree polynomial shoMd have if f.

g.

h.

= 4o e’cejr‘eo

3. A 11" degree polynomial CAN have

if all
tgrms are present n

Linea x G. —oP TG TUdirection changes—~ bmas“ c.
/.? O b. UP to 11 direction changes
c. UP to 12 direction changeﬁ O/\"L d.
UP to 13 direction changes \ Q_S'S .(_L\o'\
UP to 14 direction changes

31 de gree
C \D L4 11" degree polynomial CAN have if all
VO e ¥ terms are present n 8.

S

«*

Qz [ S

UP to

UP to 13 x intercepts
UP to 14 x intercepts

a.
b.
c.
d.
e.

5. If you have a negative lead coefficient, then what

- gx MUST be true?
a. The function’s graph must end in Q1
b. The function’s graph must end in Q2
. _The function’s graph W&% ® L( @
. The function’s graph must end in Q4
= g X e. The function’s graph must end in Q1 and Q2 8-
The function’s graph must end in Q1 and Q3 X

.F
G. The function’s graph must end in Q3 and QD
h. The function’s graph must end in Q2 and Q4

If you have a positive lead coefficient and the
highest exponent is ODD, then what MUST be

The function’s graph must end in Q1
The function’s graph must end in Q

The function’s graph must end in Q3
The function’s graph must end in Q4
T inn! ust end in Q1 and
The function’s graph must end in Q1 an
€ function's graph must en
The function’s graph must end in Q2 and Q4

C IAS '\V/\\\ 7. If you have NO constant term, then what must be
true? (Mark all that apply)

2+ % 1O

The polynomial’s y intercept is also one of
its x intercepts

The polynomial must pass through t
origin

The polynomial will have all its x
intercepts

The polynomial will be missing one of its
intercepts

The polynomial will be missing one of its

terms meS.'rg conSt~t +erm

Mark all the ALWAYS true statements

3

A polynomial whose highest degree term
is 3 will have at most 3 x intercepts
A polynomial whose highest degree ter
is 4 will have at least one x intercept

. . — .
Missing terms that are related to variable

terms have a coefficient of 0y, q =) 2
<l =
A polynomial whose highest g%gree te¥m+0*"°‘

is 4 will have an absolute extreme N :Sq
A polynomial whose highest degree term N "‘"‘X
<

is 4 will have an absolute minimum A ay
A polynomial whose highest degree

term
is 3 will have at least one x intercept E: !
A polynomial whose highest degree ter

is 4 will have at mostsheee x intercepts

9. Rewrite the following polynomial in standard form, state its classification based on its degree and number of

terms, state the lead coefficient and constant.

5x? —6x2+27 —3(2x2+3x*+9)

5x3-Lx 427"

AN N e

2x¢4 0O

ST

A x*27

Il o g
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Cinew Quadre e C_Jb\'(. Quowhe &u;nﬁc (SN .-lc.j(c

!

Standard Form Classification

A . N
10 A. This is arX N\ /1] polyngm'lal’s

v f oS, e

o 1000 | y VA (veg graph. )($
| | 10 B. State all the ROOTS of this
[ polynomlal
w‘ (’5.01,0) || :l0=)( . g’oc é’)\ ) on\\j’L’
3 |4.(9_"9370) | ' a“l- 5
M | (3.0, D)
‘d‘\"\_ v / (4.43. D\
DOI"‘“. I Sy \ 11. Which is most likely be true?
X E‘ (-\)4 mone of the rDDtsrepE
g_ U’\y" | M:I\ Choice B: one of the roots is (D, ?)
Bé@f’ vis Aeqluhve somleubex  (8-1447.25%3) /imagi“aw NS :"L
gNGe
P‘\UJ 0-\(5 K L\ \\ oC Explain your choice oo
A Wi VA\\ey ot bhrough Yo ax (s
Leld b KY 9 ex,

12. The polynomial is INCREASING over which intervals (This is ALWAYS done in terms of x)
Use set notation, interval notation, or inequality where necessary

é(—oo, :)U (D sol)U (g oq\) o¢ {)(GR’ W(x<'SUD<¥<30| 9¢)

13. State the LOCAL extremes lynpmial (these should ajways he coordinates)
oL\ MU '% E\‘? ﬁ Toca nan \74\\4\15

(-5.808)V (7, 4u.) (00) U(8 - 49725 %)
14. State the ABI\?L TE Fxtr?’rle%\possﬂ‘g if NOT gosmble s}ate'glu not \'U\C‘S ‘A bo“\’l‘\ J\'fc\:[\‘rs

Absolute Minimum

A
B

<

Absolute Maximum

ning is true about f(10)?

15. Which of the following is true about f(-8)? 17. Whi he
m b. Itis a negative number
c. Itis0 c. ltisO
16. Explain your justification for the choice you 18. Explain your justification for the choice you
m de for ‘he}rﬁvmf qli?t\lonx l\/‘*_ Tﬁe f?rsthe'pl,?l\f\lq_usatlreggog‘l’\.‘_ MIL\V‘(
(m«\, -\-\-\c L nekon goes doun Lonchon 18 going IP.

19. Based solely on the graph of the quintic polynomial, discuss the nature of both the leading coefficient and

Based on the graph, | know that the lead coefficient MUST be PDS '-\\U{ b/L (0 ﬁ l/\+ Slée N UP
O Yvelause (D._D)’,J +he 7,.‘/14-

the constant.

Based on the graph | know that the constant MUST be
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A [ P
20 A. Thisis a/J& TlT:l'olynomial’s
graph.

(-2.47,205)

20 B. State all the ROOTS of this
polynomial

(-49)
(0.0)
CIC))

/8.2)

21. The polynomial has NEGATIVE
function values over which intervals

Use set notation, interval
notation, or inequality where
necessary

DON\!A;A‘. X € (‘DO%DT) \(é (_bo,—c(\U(ol L(‘)U(?'DQ)
@MJ{,‘- Z € ('00, 05] éfﬁ o<y <-4 U0<x¢._l U?<"<°‘>

22. The polynomial is DECREASING over which intervals (This is ALWAYS done in terms of x)
Use set notatiorsinterval notation, or inequality where necessary

X+¢ (’Z.‘ﬂ. )V (.(a.‘ﬁ,tn\ {XeK\Q,q?cy(Z, \} LY7 <y< c3>-
X X vales Or\\\/ 1

23. State the LOCAL extremes of the polynomial (these should always be coordinates)
loge) mu Low\ ain

(<249, 205) 1/ (L4 205) (2,-15)
24. State the ABSOLUTE extremes if possible, if NOT possible state why not
(-2.42 %)
(L1, 205) 3

:tﬁali{f Min'lmum NO/\( 9wol s JO\;"\

Absolute Maximum
2 ave J omt \'\fj"\ey-l- NAV S

25. Which he following is true about f(-3)? 27. Which of the following is true about f(9)?
a. Itis a positive numb . a. Itis a positive number
b. Itis a negative number b. It is a negative number
c. ltisO c. Itis0

26. Explain your justification for the choice you 28. Explain your justification for the choice you

made for the previous question made for the previous question
Twe Sontkvon 13 Glooue X 4%y Jhe fonchon 15 beloww xaxXiy
Loy (-4,0) ol x=¢

29. Based solely on the graph of the quartic polynomial, discuss the nature of both the leading coefficient and
the constant.

Based on the graph, | know that the lead coefficient MUST be Ne 4 “'hVL b/é (l-(oé" +--S \ ‘Lc (3
J J ép'...J A
Based on the graph | know that the constant MUST be O b/(, +L‘ I A +</<€f’ |

'S (D,:Q)
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10

30. Write the piecewise function

X O <x< 3
fx=1_35 , 3 <x< S
PsX-PH2, S <x< ¥

State the domain of thefunction
X& L0 —~cloed circle

State the ranmu ction e
y €(-0, 4y~

Compféte the statement x — oo

y—2= O€ Do

ACION ‘oo ~¥s do.aln
a\'\- (Iql’\.‘-

=
=
=)
o
=)

31. Write the piecewise function

J—%x , 2<x<H4
fo=4_“ . 4Y<x<£q
l—{—'(x—lbﬂﬂ, q<x <20

State the dgmain of the function
X € L~2,26

State the ra?e of t] @]‘un-:tenl_(_'> \/ ( L , g

So -3—>( +2 X <8
'f\ f(x)= 6( \Z)—3 5_<X<’(e
- o z (x-u.)-z X216

| -(n, -3)

.':/(“:I-l) State th;g< doéma _o(f}tge:léggs

h

32. Write the piecewise function

State the range gf the functi
SELEES o 7
Complet‘;: the statements x - —c0  y =2 _ oo

X — 00 y—»oQ

0\5 X apelouches'
Means

AN

33. Wrn;g the piecewise function

-—)(+2 X O
-E(-(x )3 0 =<x<lb

=X -?D)H) X2
State theﬁ ?ﬂln()itwl’lw

S(x)=

State thyan&e ﬂ'l?'f'”'ﬁlyu ((Z ' OQ)

Complete the statements—¥—=—=m y .—Lx
-x—=ee Yy
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48. Circle all the
<0 °oQ transformations present  Stt® ;h: d”g‘a'" of the function
10 ) 3 - \
ical compress -
Vertical stretch ﬂ:% State t:;e gn of the f%nctlcm
Horizontal Shft LEFT state e absolut I
orizontal shift RIGHT | @ the absolutg vue n
- - function =
5 \ Vertical shift UP ) State the related ise funl:tlon
N T 3_ 2? Vertical STRLDUWN § '%.',
$ -~ Vertl flection 2 x-\ l
. ™M State the Vertex of the Graph f (x) = }'(X")“" x > l
l C\, \ ) e & .
State? values afa h, k Complete the statements x = —e¢ v = o
3 ) Sl T a= 7 k x ooy DO
=\
49. Circle all the
. State the domain efth unction
; X «
State the raze o(lhe function
-‘ State the absolute vallle —
3 i} function ‘1--— X"'l +5
o rtieatehift DOWN State the related p|e53 s%functmn «- I
£ T D
r State the Vertex of the Graph f(x)_ -..L(x.ﬂ)_‘s X > l

e

S5

Circle all the

\ﬁaw P pNone
Verticashift DOWN
Wertical réflection

State the Vertex of the Graph
. 9

State tlie valuesofa, h, k

a= "2 h=_— k

State tr\e valuesofa, h, k Complete the statements x = —oo 5= o
a=_"_ } h=> ) k X Yy @
nction

State the domgin of the
X € (-9,

State the range of the fyncti
State the absolute va,
function \1 ’
State the reIat«i!d p|eoe;sse funl:tlon

J(x) ={ (x+l)

Complete the statements x — —oo
x — oo

<-|
x>—|

y—o___
y—

Circle all the
transformations present

Sl;ﬁe thE ertex of the Graph

e
State thzalues of a _8 k

k

State the dpmajn of t flgaon

X - \
State Ejhe ran of the flt‘net(cm
State the solute V?_l U
function 39 Y l -} I
State the related piecewise function

2x+Y4 X €0

J&=1-2%x44 X 20
Complete the statements x — —o0  y —_ o
x—2 o oy
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Piecewise functions and Absolute Value function Practice

52. Graph and proper label the given
piecewise function

10

Y R

Vi

For the absolute value
function present

VWion
Vertical stret
i hi

Vertical reflection

State the Vertex of the Graph
L

State the valuesofa, h, k

a= | h=
k=__ )\

For the PIECEWISE FUNCTION
State the doma? of the fum:%an
X - L
State the range of the function

Y EL-12, 50

Relatedfiecewise function

l|lx=1|+], -wc<x=<3
flx)= 3<x<6
-2x, 6<x<w
Complete the statements x — —co _)D_o
[>e)

X = o0

53. Graph and proper label the given
piecewise function

', Oo

10 P

-
&

For the absolute value

Vertical shlﬁ: up \

Vertical reflection

State the Vertex of the Graph
=3, 1

State th‘e valuesofa, h k

a= ‘L h=_=—

k= ‘

é\_r__?l_l_x;'ﬁ_:_l S €4 -C(l)

For the PIECEWISE FUNCTION
State the domain of the function

..o°|bQ
State the range E_the functjon
€ (-|,>

Related piecewise function

Flxy=4 _—Sx+4, l<x<3 (() t '(
3 s
2z-7, 3gx<w ‘2 3
Complete the statements x + —c0  y—__ ¥
X oo y - b()

54. Graph and proper label the given
piecewise function

O y
10‘
[
a0
-0 5 X
5

For the absolute value

function present

Vertical shift DOWN
Vertical reflection
State the Vertex of the

Graph (7“7, \ )
State the values of a, h,
k%
a= /?’ h=

- ; k -

For the PIECEWISE FUNCTION

State ths(d(gn?n of the fursc‘tlon

A d
Related piecewise function

3
;lx+3|+l. —o<x<l
I — 2
flx)= E,\‘+4. —l=x=3 ¥ -D‘\'q
< 3<x<m (\o'\’ﬂ\

-Q\) ’\V.\\b{r
VAN (W)

N
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55. Graph f(x) =3|x + 2| —

Circle all the transformations present
Vertical compression
Horizontal shift RIGHT
Vertical shift UP

B ]
State the Vertex of the Graph {i, i}
State the valuesofa, h, k

State the domain gf the funcfion
=00,

State the range of the fu nctiar\
gy«(-4,
State the y intercept _ (O .fz )

State the related piecewise function

_ a- n==2 k-_-=4 L [3)-H, X -2
L x)=
o % 5 T, f(x) 136“_2_) -4 x2-2
| Complete the statements x & —o0  y— oo
56. Graph f(x) = =3 |+ 4] +1 Circle all the transformati resent
z Vertical compression (_Vertical stretch ™) State the domain _Ehgfaﬂ%fg
Ve m Horizontal SHITt RIGHT \
10 m Vertical shift DOWN State the range'@of ?E functian.\
Cyertical reflecsion” =200,
LY 4 -—
5 State the Vertex of the Graph (~ ‘f , } State the y intercept (L,—_f?;
State the valuesof a, h, k State the relate piecewyise functidn
A a-=3  n-Y -] T W
\‘
? w2 . (x+‘{)+t X 2-
/ Complete the statements x = —c0 ¥ 3"
( \, e S
- =\ 10 "
V" - UV
57. Graph f(x) = g |x| — 4 Circle all the transnt
Wertical compression State the domain of the functio
o do “ P X € (=79,
— . 10 ! R i
7 Vertcal st Up_ (Vertical st oW tat the ange ging )
/ “Tertical reflection —— L (\ =
. State the Vertex of the Graph (O =) statethyntercept _ (0, )
State the valuesof a, h, k State the relaged piecewise function
\[/ | B ISRt o
X
7 3 \/ I %X q *x 20O
Complete the statements x - —oo  y— 2
5
X — oo - =
58.Graph f(x) = "?2 |x —3| wﬁ:rmations present
ical compressi Verti State the domain of] %ctio‘&o)
‘t, Horizontal shift LEFm X 6 (t \
. R ; i State the range ofthefunctio
m Vertical shift DOWN ? _s& i o)
8 State the Vertex of the Graph {3 © State the y intercept i O, ? l;)
State the values of a, h, k State the rel.zted piecgwise function
a==%3 n- Lo 3 02 X < 3
X
A= T?—(x-}\ X 23
Complete the statements x & —0 ¥ =
¥ Yo >

Az z
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You should be able to State the Polynomial in Standard Form, its Lead Coefficient, Constant, Degree, Total Terms, Name of missing terms,

| and Name of Polynomial by Degree and Number of Terms
Polynomial 1: f(x) = -2 Polynomial 10:f;(x) = -2 +
A

(DI\S‘\'" Polynomial 11: f,(x) =3 — 2x L;

Polynomial 2: g(x) = 3
Polynomial 3: h(x) = 0 Polynomial 12: f(x) = 10 — ;x

Polynomial 4: j(x) = —2x

\‘\’\aw- Polynomial 13: f,(x) = —2x + 6
. —2
Polynomial 5: k(x) = P Polynomial 14: f5(x) = —x +3 x
&J‘.df‘
6 _ 22 \_,‘\A(l»\\L
Polynomial 6: m(x) = S X a Polynomial 15: f,(x) = 79( +5x2
5. ot €
Polynomial 7:n(x) = — (Vb G Polynomial 16: f;(x) —_1 +2 cx*t
&oh

1. _ 2.4 L\ C
Polynomial 8: p(x) = st &\J” Polynomial 17: fg(x) = —x -

ry C
Polynomial 18: fo(x) = 6x° + 2

%\-l\nm{ ll\.\f

Polynomial 9: q(x) = 6x° &\I\"\‘\k

M oA, h\g

néar~

Polynomial 26: gg(x) =
QuiaX¢

—2+x+ x

‘ U‘o\C

3—2x+gxa‘x‘r‘“c

; . —10-_2 5,3 .
Polynomial 21: g5(x) = 10 JX+ zx(_d\"’“’

Polynomial 19:g4 (x) =

Polynomial 20: g,(x) =

Polynomial 22: g,(x) = —2x + 6 — ;xz \-\'(.
duh
Polynomial 23: g5(x) = —x +3x2+12 3
a Jo
Polynomial 24: g¢(x) = 6x° + — x4 x
Gu\r\-\x L
Polynomlal 25: g7 (x) = —x +2x% —2x
ZQ\J(J{\ &
—x —6x° — —x

()?um\\(-

Polynomial 27: go(x) = 6x° + 2x +2 x

N’ AOM-R\S @‘V"\*\

N
Constant o %% W/o VWA \ionomial
Linear x 2 Binomial
Quadratic X Trinomial
Cubic X \.\ 4-Term polynomial
Quartic - X 5-Term polynomial
Quintic X

)(J.

6™ degree polynomial

Coefficient

Lead Coefﬁcient‘ﬂ. :,\-Q,-o/\ \—D-L
Constant \,\,‘j\-\o,s \'e)\fo/\’#

Term
Degree

éxX Par\y\']“

Label the Vertex or Inflection Points, and Axis of Symmetry if applicable

nehe |

f(x)=—|x+3|+4

g(.\') =2x+ 3

nx) =(x—3)7 +5 A\o§°l*‘k % lve

) ==2(+3)2 =9 P(¥)
P(-‘) — 4_13 + 2

w(x) = (.3)(-\"4) _3

RAbLel
(X

WV alug
k(x) =4|x—2]—9

Lines

) 4%)

ch-jc'
hx)

S{(ddfc. Lost / f( V'

@uadzche
i

QJ«M\\'L
L)
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